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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3); or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

e ——
1- A politician suggested that Churchill was wrong not to have -————-—- peace with Hitler in 1941.
1) equated 2) pursued 3) featured 4) specified
2-  An angry crowd -———-—- - through the gates of the president’s palace.
1) surged 2) triggered 3) coincided 4)yapproximated
3-  The divers have begun to -——--—— -- to the surface of the water.
1) retain 2) transmit 3) ascend 4) encounter
4- The Central Bank ---—eeee in the currency market today to stabilize the exchange rate.
1) violated 2) intervened 3) attained 4) attempted
5-  Unemployment has resulted in the public’s —-—-— with social conditions.
1) submission 2) fluctuation 3) discrimination 4) disenchantment
6-  Drugs have affected every --—--- - of American society.
1) scope 2) route 3) range 4) stratum
7- A modern piece of ————-—-- was used in the language laboratory.
1) portion 2) scheme 3) apparatus 4) manual
8- Despite the lecturer's explanation, the audience failed to understand the ----———- of the
problem.
1} insight 2) magnitude 3) interjection 4) appreciation
9-  Many of the homeless behave - » which strengthens the idea that homelessness is really a
psychiatric problem.
1) bizarrely 2) virtually 3) predominantly 4) alternatively
10- Those explosions must have been -----—-- to our departure because we didn’t hear anything.
1} subsequent 2) conclusive 3) exceeding 4) intermediate
PART B: Grammar
Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.
g e — —

The job of the scientist has always been to search out explanations for things that happen in the
Universe. Such (11) -----=== - events or happenings are often known as phenomena. The simplest
science arose from observing phenomena (12) ---—----- questions to find out why they occurred.
Before the 17" century scientists generally sought answers to these questions by reading what
somebody (13) -----eeus- about them, or by consulting some known and respected man of leamning.
Explanations ef phenomena gained (14) -----v-me- way were usually just guesses, although
occasionally the guesses were right. (15) ---------- a few exceptions, scientists did not try things out
to see what happened. One major exception was the Greek mathematician Archimedes, who in the
3" century BC discovered the famous principle relating to relative density.

11- 1) natural occurring  2) naturally occurring ~ 3) natural occurrence 4] naturally occurrence
12- 1)toask 2)and asked 3) and asking 4) by asking

13- 1) has written 2) would write 3) was writing 4} had written

14- 1) on this 2) on the 3) in the 4} in this

15- 1) With only 2) Only by 3) In only 4) Only for



[ Part C. ReadmgCﬂmprﬁ-hensmn

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4). Then
| mark it onyour answer sheet.

Both classical and instrumental quantitative analyses can be divided into gravimetric
and volumetric analyses. Gravimetric analysis relies on a critical mass measurement.
As an example, solutions containing chloride ions can be assayed by adding an excess
of silver nitrate. The reaction product, a silver chloride precipitate;is filtered from the
solution, dried, and weighed. Because the product was formed by an exhaustive
chemical reaction with the analyte (i.e., virtually all of the analyte was precipitated),
the mass of the precipitate can be used to calculate the amount of analyte initially
present.

Volumetric analysis relies on a critical volume measurement. Usually a liquid
solution of a chemical reagent (a titrant) of known concentration 1§ placed in a buret,
which is a glass tube with calibrated volume graduations. The titrant is added
gradually, in a procedure termed a titration, to the analyte until the chemical reaction
is completed. The added titrant volume that is just sufficient to react with all of the
analyte is the equivalence point and can be used to calculate the amount or
concentration of the analyte that was originally present.

The basis of the classification presented in the first paragraph is -—--—--— :

1) the reaction product 2) quantitative analyses

3} the measurement type 4) critical mass measurement

What happens to the silver chloride precipitate prior to its being dried?

1} It is filtered. 2) It 1s assayed.

3) It is weighed. 4y Iv1s added to an excess of silver nitrate,
The word “exhaustive” in line 5 is closest in meaning to ———- -

1) reckless 2) thorough 3) protracted 4) complicated
Paragraph 2 develops the topic of the paragraph through —--—--- .

1) a set of instructions 2)a process description

3) a hypothetical anecdote 4) a problem-and-solution description

According to the paragraph 2, all of the following are true about the titrant EXCEPT that

s i

1} it is a chemical reagent

2) it is placed in a glass tube

3) its adding to the analyte is gradual

4) its concentration 15 determined at the end of the reaction

Organic chemistry also posed problems in the discrimination between substances.
Berzelius originally devoted his career to physiological chemistry, a field based upon
the application of chemistry and physiology to substances derived from animals and
plants. To that end, he mastered traditional extractive analysis and published papers
on these analyses between 1806 and 1808 that became highly regarded by his peers.
However, he found that extractive analysis provided no fundamental insight into
organic matter, since its products were not distinct substances but rather mixtures of
bmadl]! s:mﬂar mmp-:-unds Mtanwhﬂr:, hl§ interest in organic composition was

- Tays : hemistry. DI:I!]F around 1814, after
-::uns1dcrahl: mvesugatmn tnto tmrgamn -:hcmmtry, did he again turn his attention to
organic analysis.
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At this point, he isolated stoichiometric compounds and worked to
determine their elemental constituents. Berzelius argued that, despite differences
between organic and inorganic matter, organic compounds could be assigned a
dualistic. composition. and therefore could be specified in the same manner as
inorganic ones.  He improved analytical methods and, together with younger
colleagues from France and Germany, fostered the advance of organic chemistry by
interpreting compounds and their reactions dualistically. The application of his
precept that organic chemistry could be understood in terms of the principles that
govem inorganic chemistry reached its zenith in the 1830s, especially as it was
embodied in the older theory of radicals.

The passage is mainly concerned with --------
[) the contributions made by a scientist

2) problems involved in organic chemistry

3) why organic and inorganic chemistry are identified as two different branches

4) how principles in one field of study can be used to solve problems in another field
The phrase “to that end” in line 4 is closest in meaning 0 ----—-— .

L]

1) eventually : 2) in the final analysis
3) to reach a conclusion 4) to achieve the objective already described
The papers that Berzelius published between 1806 and 1808 --——-- --

1) were disparaged by his peers

2) met with acclaim by his peers

3) failed to pay due attention to traditional extractive analysis

4) were ignored by his peers for they were not based on years of study and experimentation
The word “its” in line 7 refers to ----—-- —-.

1) insight 2) matter 3) analysis 4) substance
“Which of the following is the best restatement of the underlined sentence in the passage?

Meanwhile, his interest in organic composition was overshadowed by his forays into mineral

chemistry?
1} His inclination towards organic compesition made him ignore mineral chemistry,
2) His involvement in issues in mineral chemistry subdued his liking for organic composition.

3) He was so much interested in organic composition that he failed to consider issues in mineral

chemistry.

4) He managed to strike a balance between his involvement in both organic composition and

mineral chemistry.

According to the passage, the fact that the principles related to inorganic chemistry can shed

light on issues in grganic chemistry became most evident —------— .

1) before 1330s 2)in 1814

3)in 1830s 4} between 1806 and 1808

The word “ones” in line 15 refers to ——---—— ;

1) constituents 2) differences 3) compounds 4) compositions

A second general feature of bonding also became apparent in the early days of
chemistry. It was found that there are two large classes of compound that can be
distinguished by their behavior when dissolved in water. One class consists of
electrolytes: these compounds are so called because they dissolve to give solutions
that conduet electricity. Members of the other class, nonelectrolytes, dissolve to yield
solutions that do not conduct electricity. The difference between the two classes gave
rise to the view that there are two types of chemical bond. Eleetrolytes produce ions in
solution; an ion is an electrically charged atom and transports its electric charge as it
moves through a solution, Electrolytes therefore either consist of ions before they are
dissolved er produce ions upon dissolving. Nonelectrolytes do not produce ions when
they dissolve and do not consist of ions in their undissolved state.
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28- What does the paragraph preceding this passage most probably discuss?
1) Different types of bonding
2) One general property of bonding
3) The appearance of chemistry as a field of inquiry
4) Bonding as a determinant of the behavior of compounds
29~ According to the passage, what led to the emergence of the notion that there is more than one
type of chemical bond had something to do with -—-— —
1} yielding of ions
2) solubility of compounds
3) the number of ions they contain in their undissolved state
4) the behavior of compounds prior to being dissolved in water

30- The passage involves all the following rhetorical techniques EXCEPT -sseeemeee,
1) categorization 2) cause andeffect
3) comparison and contrast 4) chronology of events
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